Ip klasa la klasa 1b klasa 2a klasa 2b klasa 3a klasa 3b klasa 4a klasa 4b

1 [il/a2 i/la [ew b Jew 2a |wf sz |ew 3a |[rel 3b  [wf Sg all/a2 4b/j1
x| 2 |alli2 la/i [ew b |ew 2a_|rel 2b  |ew 3a_ |wf sz |[wf sg plast 4b
= |3 [ew la_ |ew b  Jew 2a |ew 2b | wf sz _|ang 3b |all/a2 4al4b | wfl/i2 sf/i
-§ 4 [wf sz rel 1b  [ang 2a [ew 2b  |ew 3a [ew 3b |jp 4a i1/wf2 i/sf
.5 [rel la | wf sz |pp 2a |ang 2b  |ew 3a |ew 3b  |przyr 4a mat 4b
=1 6 zdw 3a |zdw 3b [zdw mat 4a ip 4b

7 zdw jp 4b

1 [ew la |ew 1b [il/a2 i/2a | ew 2b  |wf sg |ew 3b  [przyr 4a ip 4b
o 2 |ew la  [ew 1b  [alli2 2ali | wf sg [ang 3a_ |ew 3b |ijp 4a przyr 4b
2| 3 |ew la |ang b |ew 2a [ew 2b  |ew 3a [ew 3b |al/a2 4aldb | wf sg
% 4 |ew la [ew 1b |ew 2a |ew 2b  |ew 3a |ang 3b  |rel 4a rells/wdz2s 4b

5 [ew la [ew 1b |ew 2a |ew 2b  |ew 3a |pp 3b [mat 4a muz 4b

6 wdzls 4als |rel2s 4b 2s

1 |wf sz ew 1b  |ew 2a |il/a2 i2b [ew 3a_ |ew 3b | mat 4a hist 4b

2 |ang la  |ew b [wf sz _|ew 2b  [ew 3a_ [ew 3b  [muz 4a mat 4b
< | 3 |ew la |wf Sz |ew 2a |ew 2b  [ew 3a |wf sg  |il/wf2 i/sf all/a2 4b/4a
24 |ew la  |pp b |ew 2a |alli2 2b/i |rel 3a [ew 3b [al/a2 4aljl |tech 4b
15 |ew la  |[rel b |ew 2a |ew 2b [ang 3a [ew 3b  [gw 4a ip 4b

6 zdw 2a |[zdw 2b plast 4a ip 4b

7 zdw jp 4a

1 [ew la |ew b |ew 2a |ew 2b  [ew 3a |alli2 3b/i | rel 4a wf Sg
~ | 2 [ew la ew 1b |ew 2a |ew 2b |ew 3a |il/a2 i/3b [ mat 4a wif Sg
% 3 |ew la |[ew b |ew 2a |ew 2b  |ew 3a |ew 3b  [wf sg alla2 4bl/j1
=4 |rel la |ew b  |wf sz |pp 2b [il/a2 i/3a|ew 3b |jp 4a mat 4b
© 15 [zdw la  |zdw b |rel 2a_ | wf sz |alli2 3ali | ew 3b |jp 4a mat 4b

6 tech 4a ip 4b

1 |ew la [il/a2 i/lb [ew 2a |rel 2b  |ew 3a |wf sz |ip 4a mat 4b

2 |ew la [alli2 1b/i |ew 2a |ew 2b  |ew 3a |ew 3b | mat 4a przyr 4b
S| 3 |wf sz ew 1b Jang 2a |ew 2b  |rel 3a_ |ew 3b  |mat 4a al/a2 4b/j1
-g 4 |pp la  |wf sz [rel 2a |ew 2b | pp 3a |ew 3b | hist 4a jp 4b

5 wf sg |[ang 2b  |wf sz |rel 3b | wfl/i2 sfli rel 4b

6 alla2 jl/4a |zdw mat 4b




klasa 5a klasa 5b klasa 6a klasa 6b klasa 7a klasa 7b klasa 8a klasa 8b
Pn. |1 |jp 5a gw 5b plast 6a |rel 6b geog P ip H gw L mat M
2 |al/a2 5a/4a | geog 5b mat 6a |ip 6b alla2 j2/P ch1/h2 L/ji1  |jp H mat M
3 | mat 5a wf sg ip 6a |alla2 6b/j2 | hl/ch2 j1/L | geog P mat M jp H
4 | biol S5a wf sg all/a2 6a/j2 | mat 6b chl/h2 L/j1 mat M geog P jp H
S | wf sg mat 5b wfl/i2 sf/i | biol 6b ip H hi/ch2 juL | rel P alla2 j2Im
6 | plast 5a mat 5b rel 6a |wf sg biol P alli2 jli alla2 j2/IM | chl/h2 L/H
7 | rel2s 5a2s |rel 1s 5b 1s | zdw mat 6a |tech 6b mat M il/a2 i/j2 wf sg hl/ch2 H/L
8 zdw jp H zdw mat M wf sg
WE 11 p 5a  |alla2 5b/jil | mat 6a | hist ob |\ M |al/a2 P2 |fiz L
2 |jp 5a wdzls/rel2s 5b mat 6a rel 1s/wdz2s |6b fiz L mat M hist H alla2 P/j2
3 | hist 5a wfl/i2 sf/i alla2 j2/j1 | jp 6b jp H fiz L wdzls/rel2s |P mat M
4 | wfll/i2 sfli muz 5b wf sg |jp 6b alla2 j2/j1 | wdzls/rel2s | M fiz L hist H
5 |il/wf2 i/sf ip 5b wdzls/rel2s | 6a all/a2 6b/j1 | wf sg hist H chl/h2 L/j2 rells/wdz2s | P
6 | rells/wdz2s | 5a i1/wf2 i/sf jp 6a |muz 6b wf sg jp H hi/ch2 j2IL | wos P
7 muz 6a gw P wfdz/wfch |sflsg | wos M jp H
8 zdw mat |P wfdz/wfch |sg/sf |zdw jp H zdw mat M
Sr. |1 |mat 5a alla2 5b/j1 |jp 6a wf sg muz 6b biol P mat M edb H
2 | mat 5a biol 5b ip 6a wf sg alli2 jl/i chl/h2 L/j2 hist H mat M
3 | muz 5a mat 5b hist 6a all/a2 j1/6b | mat M hl/ch2 j2/IL edb H biol P
4 |gw 5a ip 5b alla2 j2/6a | jp 6b chl/h2 L/M muz P wfdz/wfch sf/sg | hist H
S jp 5a tech 5b gw 6a mat 6b hl/ch2 M/L  |al/a2 H/j2 |alli2 jli wfdz/wfch | sf/sg
6 |al/a2 jl/5a | wf sg zdw jp 6a gw 6b il/a2 ij2 jp H WO0S M rel P
! zdw mat 50 2dw jip 6b ‘r’]"de’WfC sfisg | rel ip H |ali2 i
8 rel2s P 2s wf Sg rells P 1s zdw jp H
Czw. |1 | mat 5a al/a2 5b/j1 | geog 6a |ip 6b mat M biol P jp H chl/h2 L/j2
2 |alla2 5a/4b | hist 5b biol 6a |[mat 6b al/a2 j1/j2 | geog P jp H hil/ch2 M/L
3 | hist 5a jp 5b jp 6a mat 6b biol P mat M ch1/h2 L/H il/a2 i/j2
4 1jp 5a jp 5b wf sg al/a2 j2/6b | geog P hist H hil/ch2 JjUL  |[mat M
5 | geog 5a mat 5b wf sg hist 6b fiz L alla2 j2/P mat M jp H
6 |rel 5a zdw jp 5b mat 6a plast 6b hist H fiz L il/a2 i/j2 wfdz/wfch | sg/sf
7 | zdw mat 5a rells 6a 1s | rel2s 6b2s |jp H gw M wfdz/wfch sg/sf | geog P
8 plast P rells H1ls |zdw mat M rel2s H 2s




Pt.

1 mat 5a al/a2 5b/j1 | tech 6a |geog 6b \r’]Vde/WfC sg/sf | mat M alla2 2P |jp H
2 | tech 5a ip 5b alla2 j1/j2 | mat 6b ip H wf sg mat M fiz L
3 |wf sg mat 5b hist 6a i1/wf2 i/sf jp H alla2 j2/p mat M gw L
4 | wf sg rel 5b ip 6a | wfl/i2 sf/i mat M ip H fiz L alla2 jeIp
5 |al/a2 jl/5a | plast 5b mat 6a |jp 6b mat M ip H biol P W0S L
6 | zdw jp 5a hist 5b i1/wf2 i/sf | zdw mat 6b rel P plast M ip H wf sg
7 hist H zdw jp M wf sg




